B50016
[ ALL KERALA BHAVAN’S SCHOLARSHIP EXAMINATION 2016-2017
Duration : 90 min

CLASS : x"COMMERCE Max. Marks: 100

| GENERAL INSTRUCTIONS

READ THE INSTRUCTIONS CAREFULLY BEFORE ANSWERING THE QUESTIONS

J 1. Please fill up your Roll No. and class in the box provided on the answer sheet.

f ¥'2. This question booklet contains 50 questions and 5 Tie Breaker questions.

} All questions including Tie Breaker are compulsory. Tie Breaker questions

would be evaluated only in case of a Tie.
8. Each question has 4 options a,b,c,d.

4. For each question, select the best/correct option and darken the bubble

completely against the corresponding question in the answer sheet provided

5. Each question carries 2 marks.

6. Use blue/black ball poirit pen /pencil to darken the bubble.

7. Darken only one bubble against each question.

8. There will be no negative marking.
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ENGLISH _______
L ans T 4
jown My spinc’ S Teel very excite
1. The phras¢ i cndp Si : ) el fthese.
el very frighte d) n
c) feel very ewed T e
2. The synonym of the word «inister’ i8 =777 o Jeft “ide
. a)"T’hrcntcning a) 100
c) benign
3. The antonym of tcontnminatcd is --===="""" 5y stic /e
a)Polluted ) S apollu
oo Pi L S
- 'S o _9o c’ is _____________
4. The word closest in meaning to incentivis by Gai
a)Rcward . i of these .‘
c) Give a reason to do something
--------- singh

5. The author of ‘The Portrait of a lady’ is

a)Shirley Toulson
c) Walt Whitman

6. King tut’s mummy was
a)1922
c)2005
7. The figure of speech in the line
a)Similie
c) personification
8. Mrs Dorling lived at ------=====""""~
a)No. 24 Main Street
c) No .46 Marconi Street

ECONOMICS

taken for a CT scan 1

its silence silences

—
——————— -

b) Metaphor
d} Alliteration

b) No. 46 Macaroni Street
d)No. 24Macroni Street

9. Which of the following refer to geometric form of data presentation?

a) Bar diagrams
c) Pie diagrams

b) Histogram
d) Both (a) and (c)

10. A series in whi 7 i
which every class interval excludes items corresponding to its

upper limit is called:
a) exclusive series
c) both (a) and (b)

b) inclusive series
d) none of these.

1 1-
e

a) saving
c) production

12- t) ] Vi .

a) Rich
¢) non poor

b) investment
d) exchange.

0) very poor
d) All the above.
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13. Import substitution refers to a policy of substitution of import by---------
Production.

a) Foreign b) Domestic
c) State d) District
14. The better indicator of development is -----===-="~ -
a) Real percapita income b) Domestic income
c) National income d) National production.
15. Average value of given variable is known ag---======-==-=="""="""="
a) Median b)Index number
¢) Mode d) Mean
16. Excess of exports over imports shows------=-=---===="=
a) Balanced b) Un favourable
¢) Favourable d) (a) and (b)
17. The year in which the planning Commission was set up:
a)1948 b)1950
c)1949 d)1951

D

BUSINESS STUDIES

18. Re construction of sick public sector units is taken up by------=--------=--

a) MoFA b)MoU
c) B.IFR d) NRF.
19. Dis investment give birth to establishment to------=---==--
a) Public sector undertakings b) Departmental undertakings

¢) Multinational Corporations d) Statutory Corporations.
20. Steel Plant at Raurkela was set up to achieve-----=---=------

a) Regional Balance b) Economies of Scale
c) Infra structural development d) Import substitution
21. A Government Company purchases shares in the name of -------==-------
a) Prime Minister b) Indian President
c) Chief Justice of India d) State Chief Minister
22. Which of the following is not applicable in Life Insurance Contract?
| a)Conditional contract b) Unilateral Contract
c) Indemnity Contract d) None of these.
23. Which elements of Insurance is considered for valuation of risk
a) Indemnity b)proximate cause
c) subrogation d) contribution
24. The maximum number of partners in a partnership business is ---
a) 10 b) 20
c)2 d) 50

25.This business risk cannot be insured

a)fire in a factory b) foreign exchange fluctuation

c) accidental damage of assets d) shipment of goods through sea
26.0lx.com is an example of ----=mmuemu-
a)B2E Commerce b) B2BCommerce
c) B2Ecommerce d) C2Ccommerce
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ACCOUNTING

27.1F R s are based on----========- b)fair value
a)historical c(ci)sltJ d) nonC_Oflth:e
n : ) 5
28. Tc}*)zcl?j(:)ttl;rianxltllcnt(:y) to record sale of service on credit should in
a) debit to cash and credit to dc!)tors
b) debit to fees income and credit to ficbtors
c) debit to debtors and crcdit to fees income
d) none of these

29. Bank Reconciliation Statement is prepared by ------------

a) creditors b) debtors

c) bank d) account holder
30. Depreciation is a process of

a ) valuation of assect
c) both (a) and(b)
31. Provisions are---------.--«cecceea-
a) external transactions
c) both (a) and(b)
32. The Rebate on a bill is shows that -----=-=--=---==
a) it has been paid before the date of maturity

b) it has been paid after the date of maturity
c) it has been dishonoured

d) it has been discounted .
33. Recovery of bad debts previously written off ----- e m— oo .
a) Increases assets and revenue b) increases assets and capital

c) Decreases assets and expenses d) increases assets and expenses

34. The bank balances is treated as plus balances if it is a balance of ---------
a) Cash book

b) credit balance of pass book
c)Debit balance of cash book
d) in all above cases

35. The difference in the trial balance is transferred to
a) capital account

¢) Suspense account

b) allocation of cost
d) none of these

b) internal transactions
d) None of these

b) difference account
d) Profit and Loss account

GENERAL KNOWLEDGE
36. The customized Pin code of the Supreme Court i§----===un--
a) 110201 b) 201011
c) 112001 d) 100121
37. World’s largest Solar Power Project in--=e-cee-.
a) P?njab b} Rajasthan
c¢) Bihar

d) Manipu
38. R B governor ig----------- ) pur

a) Subir Gokaram

! b) Urjit Patel
c¢) Raghuram Rajan dyY \J/ Reddy
39., December 14t js celebrated agemve---....__ .
a) \I)(Vforld I;)zone Day b) World AIDS Day |
c) Navy Da i
) Navy Day d) National Energy Coriservation Day
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”44.

1

e e T T A

|

40. Which of the
a) Main Fr.

c) Super Conducter

41. Jawahar Ro;j

Jgar Yoj

a) houses for pog, * Provides

¢) Training for
elf-

‘Performance and C

a) National Bank f,

42.

followine :
ame INg is the most powerful type of computer ?

Cmployment
redit Rating Scheme’ is implemented by -----n-eeeo.

b) Micro Computer
d) Super Computer

b)Food for work
d) subsidized loans

b) National Smal] 10 . AgriC_UImral and Rural Development

43. 3/4n -
/a )3o%f 1/3™ of 4/5% of a number is 80, find that number.
c) 14 o %0
) d) 400

In how many ways the ot
that vowels come togeth

(ters of the word SACRED can be arranged so

er?
a) 240 b) 120
c c)320 d)720
45. 1 zggggux‘s coded as HUMJTK, how can CANDLE be written in that code?
‘ b)DCQHQK
46. BYSilg;g an article for Rs 100, one gains Rs 10.then the gain percent is -
(4]

c)111/9%
47 Which is the missing figure?

b)9 %
d) 10 % %

A A

N

O 100 ] [ AT 7]
A B C D
a)2 b)4
48.
23, ?, 47.
a) 28 b) 34

1 2 3 4 S

c)3 d) 1

Which number would replace the question mark (?) in the series 2, 7, 14,

c)31 d) 38

49. Five students A,B,C,D and E are sitting in a row, D is on the right of E}, Bis
on the left of E,but is on the right of A .D is on the left of C who is sitting

on the extreme left ?

a) A b) B

50. The mean of four numbers &, b, c,

remaining number 18

‘a) 30 b) 85/2

c) C d)D

d is 100. If ¢=70, then mean of

c) 170/3 d) 110
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TIE BREAKER

. s from the company as
51. The equity sharehol b) Risk Free

a) Tax free .
¢) Unlimited d) Fixed

e e

ders receive return

52. A D Rs are issued in--------=======-~
a) Canada
c) India
53. The maturity period of a commercia
a) 20to 40 days

b) China
d) USA

| paper usually ranges from
b) 90 to 364 days

e e

c) 120to 365 days d) 7 to 364 days
54. Credit balance of bank column in cash book shows:
a) over draft b) cash deposited in our bank
c) cash withdrawn from bank d) none of these
55. A Maruti Suzuki India is an example of --==--=-=-
a) Public Sector Undertakings b) Joint Venture
c ) Multi-National Corporations d) Statutory Corporations

**t*t#**t***********’I****
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